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Question Number : 101 Question Id : 21280728606 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
hatch List - I with List - II
List - 1 List - 11
(Means) (Marketing Philosophies)
(A} Availability and atfordability of produoct (L Marketing Concept
(B) Product improvement () Production Concept
(L) Selling and promoting (Ily Product Concept
(D} Profit through integrated marketing (IVy Selling Concept

Choose the correct answer from the options given below :
(1) CA)-(T), (B)-(IL), (C)-(IV). (D)-{I)

(2) (A1, (BIAID), (C)-(D, (DRIV)

(3) (A, (B)-(I1), (O)-(D), (DH{IV)

(4) (A1), (By-(IV), (C)-(ILL), (E3)-{I}

Options :
212807114421. 1
212807114422. 2

212807114423. 3
212807114424. 4

Question Number : 101 Question Id : 21280728606 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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(A) T F IR SR T () TaoE HeEewn
(B) IET HaFheo (1) SRR HEegl
(C) Tamt 3in weees (1) S HeEHea
(D) T favom g e (IV) Taeht deeq

A= e el o § wEF S 0 999 wmite
(1) (AT, (B)-(IIT), {C)-(TV), (D)-(T)
(2) (AL, (B)-(I), {C)-(1). (DH(IV)
(3)  (A)-(IT), (B)-{ILL), (C)-(D), (D-(IV)
(4)  (A)-(H) (B)-(IV}, (C)-(II), {D)-(1)

Options :

212807114421. 1
212807114422.2
212807114423. 3
212807114424. 4

Question Number : 102 Question Id : 21280728607 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
Match List - I with List - 11
List - 1 List - 11
{(Elements of Directing) (Indicators)
(A} Supervision (I}  Process of making subordinates work in a desired
manner to achieve organisational goals
(B) Motbvation {Il) Process of exchange of ideas, views etc.
(C} Leadership {III}) Process of goiding the efforts of employees
(D) Communication (IV} Process of influencing the behaviour of people

Choose the correct answer from the options given below :
(1) (A1), (BT, (C)-(1), (D}(IV)
(2} (A-(IV), (B)-(TT). (C)-(HI), (D)-{T)
(3) (M-, (BHIV), (©ID, (D)-(L)
(4) (A (B(1), (C)-(IV), (D)

Options :

212807114425. 1
212807114426.2
212807114427. 3
212807114428. 4

Question Number : 102 Question Id : 21280728607 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



Question Key Details :

Key Value
Comprehension MCQ
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(1) (A)-(I1). (B)-(UI), {C)-(1). (DIV)
(2y  (A)-IV), (BY-=(I1), (C)-(1I), (D)-{I)
(3) (AN, (BR(IV), (C)<(ID), (D)-(IIT)
(4) (AN, (B)1), (C)-(IV), (D)(1T)
Options :

2128071144251

212807114426.2

212807114427. 3
212807114428. 4

Question Number : 103 Question Id : 21280728608 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ
Match List - T with List - [T
List - 1 List - I
(Foreman as per functional Foremanship) (Functions of Foreman)
(A) Speed Boss (I}  Keeping machines and tools ready for
operatimn
(B) Route Clerk (I}  Ensure proper working conditions of
machines and tools
(C) Gang Boss (II) Timely and accurate completion of job
(D)  Repair Boss (V) Specify the path of production

C}'HZI'[}S-I-.' H'Ii-_' correct answer !F!I'U-]"II ﬂ'.l.'c?‘ 1.1'F||'_i.['!ll'lf':'- Hi".'l-_"l'l |.'|L'|.l'II'|.I'|.' H
(1) (A)-{III), (B)-{IV), (C)-(1), (D)-{1)

(2) (A, (B)-(I), (C)-(13, (L)-(10)

(3) (AL, (BI-(IV), (C)-(D), (D)-(11)

(4) (AT, (B)-(1), (CH(ID, (D}IV)

Options :

212807114429. 1

212807114430. 2
212807114431. 3



212807114432. 4

Question Number : 103 Question Id : 21280728608 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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(C) fimam () =/ 1 T8 =9 § T09 9 71 F=14

(D} WwE 7 (TV) Zeomes 79 fafafde =on

4 fau o fawed © 9 wft 3 1 = wifa
(1) (AL, (BIHIV), (C)-(11), (D))
(2)  (ARIV), (BT, (C)-T), (D)-(IT)
(3) (AR, (B)-IV), (C)-0), (D)-(11)
(4) (AL, (B}-(I), (T, (DR(IV)

Options :

212807114429. 1
212807114430.2
212807114431. 3
212807114432. 4

Question Number : 104 Question Id : 21280728609 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Match List - T with List - [1.

List -1 List - 11
{Training Methods) (Indicators)
(A} Vestibule Tra'mi.nH {1y lrilmi.]ii'tri:'iinﬁ the L“'l'l‘l].'lt[':l_'r"-l-'fls with the rules and Fl!l.i.L'j.l-_":i of
the organisation
(B)  Internship Training () Traming conducted away from actual workplace
(€} Induction Training (O} DPutting the trainee under the puidance of a master worker

(D} Apprenticeship Training  (IV} Working in office or factory to acquire practical knowledge
of the theory learnt

Choose the correct answer from the options given below :
(1) (A)I), (B)-(1), (C)-IV), (D)-(LI)
(2) (A1), (BRI, (©)-(I1), (D(IV)
(3) (A, (B)-(IV). (C)-(1D), (D)-(T)
(4) (AL, (BY-(IV), (C)-(D), (D)-(111)

Options :

212807114433. 1
212807114434.2
212807114435. 3
212807114436. 4

Question Number : 104 Question Id : 21280728609 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
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(1) (A1} (B)-(T), (C)-(IV), (D)-(I1I)
(2)  (A)-{I), (BRI}, {C)=(11). (D}{IV)
(3) (AN, (B)-(V), (C)-(I), (D)-(1)
(4) (AN, (BY)-(IV), (C)-(D), (D)-(I)
Options :
212807114433. 1
212807114434.2

212807114435.3
212807114436. 4



Question Number : 105 Question Id : 21280728610 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
Match List - I with List - I1.
List - 1 List - II
{Dimensions of Business Environment) {Factors)
(A) Legal Environment (I} Rate of savings and investment
(B) Political Environment (I}  Innovations and Inventions
(C} Ecomomic Environment (T} Statutory warning such as "cigarethe
smoking is injurious to health”
(D} Technological Environment (IV) Prachices of the ruling party

Choose the correct answer from the options given below :
(1) (AT, (BHIV), (C)-(T), (D))
(2) (A, (B)D), (ORI, (DHIV)
(3) (AT} (B)-(IV), (C)-(I0D), (D)-(1)
(4)  (AIV]L (B, (C)-(ID, (D)-(T)

Options :

2128071144371
212807114438.2
212807114439. 3
212807114440. 4

Question Number : 105 Question Id : 21280728610 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Tl - 1w g - 1T gafeEs #1
T - 1 Tt -1

(T THETUT 3 STETH) (ZRTTT)
(A) Tafus gaiEom () == =1 faw =
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(C) A waiem (I famz 9 w=mwe & fou sfens & 946 At
(D) TR FEE (IV) Heles 5 &1 yan

e fen o faradi f | Owf 590 W =Ee FifE .
(1) (A)-(III} (BHIV), (C}-(1), (D11}
(2y  (A)-(LI), (B} (C)-(1D). (DHIV)
(3) (A1), (B)-(IV), (C)-(TID), (D)-(T)
(4)  (A)-(IV), (B)-(I1), (C)-(IML), (D)-(1)

Options :
212807114437. 1



212807114438.2
212807114439. 3
212807114440. 4

Question Number : 106 Question Id : 21280728611 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ
hatch List - T with List - [1.
List - 1 List - 11
{(Money Markel Instruments) (Explaination)
(A} Treasury Bill (1) Used for mter-bank bransacbons
(B) Call Momey (M) Used for bridge fi:wm':inl._;
(€} Commercial Bill (I} Zero coupon Bonds used by Central Government
(D} Commercial paper {IV) When trade bill is discounted with commercial bank

Choose the correct answer from the options given below :
(1) (A, (B)-(1), (C)-(TV), (DH-(1I)

(2) (AT, (B)=(1), (C)-(II), (D{IV)

(3) (AL, (BRI, (O, (DRIV)

(4)  (A)IV), (B)-{LL), (C)-(I), (D)-{1)

Options :

212807114441, 1

212807114442, 2

212807114443. 3
212807114444. 4

Question Number : 106 Question Id : 21280728611 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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(1) (A, (B)-(1), (C)-(TV), (D)-(II)
(2) (A B)-{1) (O-(HL, (DHIV)
(3)  (AD. (BRO), (CO)-(11), (DH(IV)
(4)  (A(IV), (B)-(IL0), (C)-(1L), (D)-(1)



Options :

212807114441. 1
212807114442.2
212807114443. 3
212807114444. 4

Question Number : 107 Question Id : 21280728612 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

From the tollowing, identify the combination of steps which are NOT a part of organising process:
(A} Identification and division of work

(B) Departmentalisation

(L)  Estimabing the manpower requirement

(D) Placement and Orientation

(E} Establishing Reporting Relationships

CI'I-CH'I-:":'-E H'H-.' correct answer fI'IZHTl l|J'I.L". {'}Pl'i.ﬂl't':'- ﬁ.i.".'l:"'n I.""i'_"‘]li'l'r".' ¥
(1} {5}, (D) and (E) Only

(2) (D) and (E) Cnly

(3} (L) and (D) Only

(4) {C) and (E) Only

Options :

212807114445 1
212807114446. 2
212807114447.3
212807114448. 4

Question Number : 107 Question Id : 21280728612 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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Options :



212807114445. 1
212807114446. 2
212807114447. 3
212807114448. 4

Question Number : 108 Question Id : 21280728613 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

From the tollowing, identify a combination of tramning methods which are “off the job’ in nature,
(A} Computer Modelling

(B) Coaching

(C)  Internship Training

(D} WVestibule Traming

(E} TProgrammed Instruction

Choose the correct answer from the options given below :
(1) (A}, (D) and (E) Only

(2) (B). (C) and (E) Only

(3)  (A)and (E) Only

(4) (B), (€} and (I} Only

Options :

212807114449. 1
212807114450. 2
212807114451.3
212807114452. 4

Question Number : 108 Question Id : 21280728613 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
Fr=fafaa 4 4 30 winem @iy wqem # wam =1, o @ e 9 90 vEh 9w 2
(A) “heget wfaesam
(B) =ifEm
(C) wraef wiarEm
(D} TS gigam
(E) s a7y

=1 fam 0 famedi § O |l I = 99e Sifau
(1) &&= (A), (D) 30 (E)

(2) F=e (B), (C) 9 (E)

(3} A (A) AW (E)

(4) =EE (B), (C) ¥ (D)

Options :
212807114449. 1



212807114450. 2
212807114451. 3
212807114452. 4

Question Number : 109 Question Id : 21280728614 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

From the following, identify a combination of incentives which mainly focus on satistaction of
psychological, social and emotional needs.

(A} Organisational climate

(B) Productivity linked wage incentive

(C)  Job Security

(D} Steck ophion

(E}  Job Enrichment

Choose the correct answer from the oplions given below :
(1) (B) (C) and (I} Only

(2) (A) (C) and (E} Only

(3 (C), (D) and {E) Only

(4) (B) (I and (E) Only

Options :

212807114453 1
212807114454.2
212807114455.3
212807114456. 4

Question Number : 109 Question Id : 21280728614 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
Freferfam o S0 Wiraes og=m S TEEE o S PR e, s s arEeess e
i FHgfez T Fiwd £
(A} Himefw gfEm
(B) ST Haifad goei Weaen
(C) ) e
(D) =i+ ey
(E) +ierdl Haeq

9 fau mu faei | 4 W 3T ) TS wifan
(1) == (B), (C) 3 (D)
(2) FEA (A), (C) 3N (E)
(3) == (C), (D) =i (E)
(4) = (B), (D) 3R (E)



Options :

212807114453. 1
212807114454.2
212807114455.3
212807114456. 4

Question Number : 110 Question Id : 21280728615 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

From the following, identity combination of imstruments which are used to raise long term funds
with period of maturity over one year.

(A} Treasury bill

(By Certificate of deposit

(Cy  Shares

(D} Debentures having maturity of 5 years

(B} Commercial Paper

Choose the correct answer from the options given below :
(1) {A) (B) anl (E) Only

(2) (B), (C) and (D) Only

(3 {A) () and (D) Only

(4} {C) and (D) Omnly

Options :

212807114457. 1
212807114458. 2
212807114459. 3
212807114460. 4

Question Number : 110 Question Id : 21280728615 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ




Frfafem 4 9 51 35m o= =1 war =1 fas awm v 9 O afus 5 ofosa safy T
arafEts F R e O = E

(A) Foml fae

(By = 9H

(C) 9.
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9 fou o famedi § § wE = % =9 wifan
(1) & (A), (B) #H (E)

(2) == (B), (C) W (D)

(3) EE (A), (C) & (D)

(4) F= (C) #R (D)

Options :

212807114457 1
212807114458.2
212807114459. 3
212807114460. 4

Question Number : 111 Question Id : 21280728616 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

From the following principles of management which combination has been given by the Father of
General Management.

(A} Cooperation not Individualism

(BY Authority and Responsibility

(C) Subordination of individual interest to general interest
(D} Science not rule of thumb

(E}) Thscipline

Choose the correct answer from the ophtions given below :
(1} (A} (B) And (E) Only

(2) (B), (C} And (D) Only

(3) (A) And (D) Only

(4) (B) (C) And (E) Only

Options :

212807114461. 1
212807114462.2
212807114463. 3
212807114464. 4

Question Number : 111 Question Id : 21280728616 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :



Key Value

Comprehension MCQ
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(1) =R (A), (B) 3 (E)

(2) == (B), (C) &7 (D)
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Options :

212807114461. 1
212807114462.2
212807114463. 3
212807114464. 4

Question Number : 112 Question Id : 21280728617 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Arrange the following skeps in the process of planning after the objectives have been identified.
(A) Evaluating alternative courses

(B}  Implementing the plan

(C) Selecting an altermative

(D} Identityimg alternative courses of achon

(B} Developing premises

Choose the correct answer from the options given below :
(1) (B} (C) (A} (E) (D}

(2)  (E) (A) (CL (D) (B)

(3)  CE) (D), (A) (€} (B)

(4)  (B), (A) (C) (E). (D)

Options :

212807114465. 1
212807114466. 2
212807114467. 3
212807114468. 4

Question Number : 112 Question Id : 21280728617 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :



Key Value

Comprehension MCQ

el &1 vEar fau 90§ vran Fdem =t whea § fafaies g9l 39 safen 516
(A) Fehfos 7af =1 e
(B) a1 1 TRy

(C) Toheg =1 =04

(DY) SHleT® FHESE 99 F 7591

(E) =um-arr &1 Fmmm

A fou o Tasrey] O | |l 59 % 99 e
(1) (B) (C) (A) (E) (D)

(2) (E) (A) (C) (D). (B)

(3) (E). (D), (A), (C). (B)

(4) (B) (A)(C) (E) (D)

Options :

212807114465. 1
212807114466. 2
212807114467. 3
212807114468. 4

Question Number : 113 Question Id : 21280728618 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

From the below description, arrange the organising process in a sequential order ;
(A} Assignment of duties

(B) Establishing reporting relationships

(C)  Identification and division of work

(D} Departmentalisation

Choose the correct answer from the options given below :

(1) (D). (C), (B}, (A)

(2} (Q). (D). (A). (B)

(3} (A) Q) (B), 1Y)

(4)  (B) (D) (C), (A)

Options :

212807114469. 1
212807114470.2
212807114471. 3
212807114472. 4

Question Number : 113 Question Id : 21280728618 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ




fr=foafEa Taam & Hua Wi =1 s @ =Eten 7
(A) sl T SEA

(B) Todifen Haw g o0

(C) =t =i TEEA S

(D) TaumimTm
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(1) (D), (C), (B). (A)

(2) (O, (D), (A), (B)

(3 (A) (C). (B). (D)

(40 (B) (D) () [A)

Options :

212807114469. 1
212807114470.2
212807114471. 3
212807114472. 4

Question Number : 114 Question Id : 21280728619 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Arrange the selection process in correct sequence,
(A} Employment Interview

(B) Selechon Tests

(C)  Selechon Decision

(D} Reference and Background checks

(E} TPreliminary Screening

Choose the correct answer from the ophions given below :
(1) (B) (E) (D), (A), (C)

(2)  (E) (D), (B), (Ak (L)

(3 (A (C) (B} (D), (E)

(4) (E) (B) (A) (D), (C)

Options :

212807114473. 1
212807114474. 2
212807114475. 3
212807114476. 4

Question Number : 114 Question Id : 21280728619 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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(D HeEd 3R gy =ia
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(1) (B (E) (D), (A} (C)

(2) (E) (D), (B}, (A) (C})

(3)  (A), (C), (B). (D). (E)

(4) (E) (B) (A} (DL (C)

Options :

212807114473. 1
212807114474.2
212807114475. 3
212807114476. 4

Question Number : 115 Question Id : 21280728620 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Arrange the correct sequence of steps involved in the process of Communication.
(A} Encoding

(B)y Dlessage

(C)  Decoding

(D)} Media

(E} Receiver

C;'IUU'EE H'H.' correct answer :I.]"{F]Tl 'I'J.'I.l." 1"l'F|ti.L]T1?i E_j".-'li..‘l'l |.'H.'|.U1.-'|." i
(1) (D) (B, (A), (E). (C)

(2)  (B) (A} (D), (C), (E)

(3) (AL (B (D) (E) (C)

(4) (D) (B (E) (A) (©)

Options :

212807114477. 1
212807114478. 2
212807114479. 3
212807114480. 4

Question Number : 115 Question Id : 21280728620 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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(A) FerEm

(B) Hew

(C) Tageems

(D} s
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(1) (D) (B (A), (E). (©)

(2)  (B). (A). (D), {C), (E)

(3) (A (B). (D), (E). (C)

(4) (D). (B). (E). {A) (C)

Options :

212807114477. 1
212807114478.2
212807114479. 3
212807114480. 4

Question Number : 116 Question Id : 21280728621 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

Arrange the following first five steps involved in the screen-based trading for buving and selling of
securities on a stock exchange,

(A} An investor has o open a “demat’ account

(B)  Broker issues a trade Continuation slip

(C)  An investor places an order with the broker

(D} Broker will go online to match the share

(E}) Investor approaches a registered broker

Choose the correct answer from the options given below :
(1) (E) (A) (C) (D). (B)

(2)  (C) (A) (D), (B), (E}

(3)  (E) (A) {C) (B) (D)

(4) (D) (E). (B), (A}, (C)

Options :

212807114481. 1
212807114482.2
212807114483. 3
212807114484. 4

Question Number : 116 Question Id : 21280728621 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ




R g § syl & w9 e F o wem oo wimm 9 siaffm fFefefas o= sl 5=
=y w |

(A) TravF=ios"9-02" e wEe wm
(B) =ee FAER Fe o= S =
(C) a9, 5@ F 99 AR vEE 0 T
(D) &, S | dea & fe siiaemge & |
(Ey Trorwmr Tt veitha <o © H%F 00 5 |
5 fen o faedi # H |E T W 99 e
(1) (E) (A) (C) (D), (B)

(2). (G (A) (D). (B). (E)

(3 (E) (A), (C). (B), (D}

(4) (D) (BE). (B), (&) (C)

Options :

212807114481. 1
212807114482.2
212807114483. 3
212807114484. 4

Question Number : 117 Question Id : 21280728622 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Faras Lid, has been facing the problem of decline in the level of production over last 15 davs, On
analysing the reason it was observed that the work sfation got smoky due to burning of fuel and
the workers were uncomiortable and not able to tocus.

Which 1s the next step in the process of the managenal function undertaken by the manager in this
given skatement ?

(1)  Analysis deviation

(2) Measuring actual performance

(3) Taking corrective action

(4) Comparison of actual performance with standards

Options :

212807114485. 1
212807114486. 2
212807114487. 3
212807114488. 4

Question Number : 117 Question Id : 21280728622 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
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Options :

212807114485. 1
212807114486.2
212807114487. 3
212807114488. 4

Question Number : 118 Question Id : 21280728623 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ

Which of the following is not a imitaton of controlling ¢
(1) Costy aftair

(2) Restrichon in Managerial development

(3) Little control on external factors

(4) Difficulty in setting qualitative standards

Options :

212807114489. 1
212807114490. 2
212807114491. 3
212807114492. 4

Question Number : 118 Question Id : 21280728623 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key 'Value

Comprehension MCQ
Fr=fafem § @ %= o frdam =1 o = &7
(1) wF=ie uiEFD

(2) wEgRE Tawm | yimEy
(3) =l wEO o e
(4)  TEETIE WRTE] i T H T

Options :

212807114489. 1
212807114490. 2
212807114491. 3




212807114492. 4

Question Number : 119 Question Id : 21280728624 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which of the tollowing i1s a modemn technique of controlling 7
(1} Tersonal Observation
(2) Statistical Reports
(3 PERT and CPM
(4) Breakeven Analysis
Options :
212807114493. 1
212807114494. 2

212807114495. 3
212807114496. 4

Question Number : 119 Question Id : 21280728624 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Fr=fafem § 1 =0 o fam =1 s T 82
(1) =T Qe

(2) WifEE e
(3)  TEsmRE & i
(4) wv-3em favE

Options :

212807114493. 1
212807114494. 2
212807114495.3
212807114496. 4

Question Number : 120 Question Id : 21280728625 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Identify the channel of distribution from tollowing in case the producer sell the products himself to
Customers.

(1) Omne Level
(2} Zero Level
(3) Three Lovel
(4) Two Level

Options :
212807114497. 1




212807114498.2
212807114499. 3
212807114500. 4

Question Number : 120 Question Id : 21280728625 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Fr=fefaa § & =9 ooy o fomim & men =1 Tear S0 79 3090 F 3091 51 =0 WEH F 990 31 |

(1) Ueh &
(2) I W
(3) I =
(4) = A
Options :

212807114497. 1
212807114498. 2
212807114499. 3
212807114500. 4

Question Number : 121 Question Id : 21280728626 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which of the tollowing statement about Marketing is Correct 7
(1) It works through Exchange Mechanism

(2) Market oftering only refers to price of the product

(3 ldeas cannot be marketed

(4) The job of marketing is just to sell the product

Options :

212807114501. 1
212807114502. 2
212807114503. 3
212807114504. 4

Question Number : 121 Question Id : 21280728626 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
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Options :

212807114501. 1
212807114502. 2
212807114503. 3
212807114504. 4

Question Number : 122 Question Id : 21280728627 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which type of communication flows through the official channels designed in the organisation
chart 7

(1) Gnlpa:vi.rm Communicabion
(2}  Formal Communication
(3} Informal Communication

(4) Indirect Communication

Options :

212807114505. 1
212807114506. 2
212807114507. 3
212807114508. 4

Question Number : 122 Question Id : 21280728627 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

e TR =1 FuEW e witereh | SAfifates FEmEE Sl 50 Saied ol © 7
(1)  TWEE HOEW (Grapevine)
(2) ATt e

(3) A= HO
(4) =AWTER] HYEM
Options :

212807114505. 1
212807114506. 2
212807114507. 3
212807114508. 4

Question Number : 123 Question Id : 21280728628 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

“Through proper feedback, the managers should ensure that a subordinate understands his
instructions clearly’. Which principle of directing states this 7

(1) Harmony of objectives
(2}  Use of nformal orpanisation
(3} Maximum individual contribution

(4) Managerial communication
Options :

212807114509. 1

212807114510. 2

212807114511. 3

212807114512 4

Question Number : 123 Question Id : 21280728628 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

" 3 wfgfe gm, wavl = g 0 ey & anfiy 3k 9ew 1 me w4 gedt e
w1 | THEia 9% uieiem Fa gy

(1) F=Ewl &1 FEm

(2) SAENEE WS o 39E0

(3) wfusmam =afeem arEE

(4) TEUHE FUaT

Options :

212807114509. 1
212807114510.2
212807114511. 3
212807114512. 4

Question Number : 124 Question Id : 21280728629 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which statement is not correct with respect o filing of complaints betore the appropriate consumer
Forum ?

(1)  Any consumer can file a complaint on his or her own
(2}  The seller can file a complaint on behalf of agpreved consumer
(3} The legal representative of the deceased consumer can file complaint
(4)  Any registered consumer association can file complaint
Options :

212807114513. 1
212807114514.2



212807114515. 3
212807114516. 4

Question Number : 124 Question Id : 21280728629 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

I TOUEE 19 & Tas T e e o 99y feieiee 1 0 amem s el

(1) 18 ot Iudie = TR S &1 Wl 7

(2y T frd sigqs 2asE %1 30 A e 2 o T
(3) =8 FohE W fafue ufafie Tmm e 3 55 B

(4) T W WSS YRR H9 T TR 9w

Options :

212807114513. 1
212807114514. 2
212807114515. 3
212807114516. 4

Question Number : 125 Question Id : 21280728630 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

MName the Redressal Agency under Consumer Protection Act, 2019 when the compensation claimed
does not exceed ¥ 1 crore 7

(1) District Commuission
(2} State Commission
(3) National Commission

(4) Supreme Court

Options :

212807114517. 1
212807114518.2
212807114519. 3
212807114520. 4

Question Number : 125 Question Id : 21280728630 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
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(3) T s
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Options :

212807114517. 1
212807114518.2
212807114519. 3
212807114520. 4

Question Number : 126 Question Id : 21280728631 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

If this principle of management is violated then, authority is undermined, discipline 15 in jeopardy,
order disturbed and stability is threatened. [dentify the principle of management.

(1) Order
(2} Discipline
(3} Unity of Command

(4) Unity of Direchion
Options :
212807114521. 1
212807114522. 2
212807114523. 3
212807114524 4

Question Number : 126 Question Id : 21280728631 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

afg 30 vEY % THgia 1 39=A & & 78 afasn wEde & o 8, S e ° o wm # ) e A
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(1) =554

(2) ATEHA

(3) SR FI TS

(4) Tew =t v
Options :

212807114521. 1
212807114522.2
212807114523. 3
212807114524. 4



Question Number : 127 Question Id : 21280728632 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

XY Lid, wanbed to launch a new produoct line, For this, they invested huge amounts of money on
research and development programme, Identify type of financial decision highlighted above,

(1) Financing decision

(2}  Working Capital decision
(3) Capital budgeting decision
(4)y Dhividend decision

Options :

212807114525 1
212807114526. 2
212807114527. 3
212807114528. 4

Question Number : 127 Question Id : 21280728632 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

e fafies us = TE 1R 1F S TRl O | 59 W, e Y 0 fam w1 e
WA & TR T 3utEa o ity faem Ao & w350 9i=e 51

(1) Tasitg ol

(2) i E iy

(3) et weeta frfg

(4) =i T

Options :

212807114525 1
212807114526.2
212807114527.3
212807114528. 4

Question Number : 128 Question Id : 21280728633 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ




The Consumer has a right to acquire knowledpe and information regarding the consumer rights
amd responsibilities and reliefs available under the Consumer Protection Act, 20019, ldentity the
consumer right highlighted in the above statement ?

(1) Right to be Heard

(2) Right to Consumer Education/ Awareness
(3) Right to be Informed

(4) Right to Satety

Options :

212807114529. 1
212807114530.2
212807114531. 3
212807114532 4

Question Number : 128 Question Id : 21280728633 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

o =W AfufEm, 2009 F S e IudEm AR o SeiaEl 9w T F dEy o

I0TER F) AW 3 g afEa A F AtuEn § ) 3uiE e | ot v st w1 vEem i
(1) Fan =1 sifesn

(2) Fuviwm e =1 Afusn

(3) = sfaER

(4) HEEN = SAE

Options :

212807114529. 1
212807114530.2
212807114531. 3
212807114532. 4

Question Number : 129 Question Id : 21280728634 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ

Which ot the tollowing information is generally not available on the label of a consumer durable
product ?

(1) Promobional message as tag line of the product

(2) Statutory Warning

(3) Detailed manufacturing process, step by step

(4) Manufacturing and expiry date of the product
Options :
212807114533. 1
212807114534, 2
212807114535. 3
212807114536. 4



Question Number : 129 Question Id : 21280728634 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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(2) wifafas et
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(4) Fgw i P R wim fafy

Options :

212807114533. 1
212807114534.2
212807114535. 3
212807114536. 4

Question Number : 130 Question Id : 21280728635 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

MWr. Yash started a pen manutacturing unit. On the basis of several observabions, it s determined
that standard time taken by the worker to make one pen is 10 minutes, 5o the standard production
of 6 pens was determined per hour for a worker, Identity which of the followmg type of study
helped Yash to arrive at standard production per hour,
(1) Mobon Study
(2} Time Study
(3) Tatigue Stady
(4) Method Study

Options :

212807114537. 1

212807114538. 2

212807114539. 3
212807114540. 4

Question Number : 130 Question Id : 21280728635 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
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(4) = agft steEm

Options :

212807114537. 1
212807114538. 2
212807114539. 3
212807114540. 4

Question Number : 131 Question Id : 21280728636 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which tax is payable by companies when dividends are declared by them 7
(1) Dividend declaration tax

(2) Dividend distnbution tax

(¥ Inecome tax

(4) Capial Gains tax

Options :

212807114541. 1
212807114542.2
212807114543. 3
212807114544. 4

Question Number : 131 Question Id : 21280728636 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

e ek B o B e e e e R e e e e
(1) @979 = &
(2) =9 A,

(3) =
(4) =PRI T
Options :

212807114541. 1
212807114542. 2



212807114543. 3
212807114544. 4

Question Number : 132 Question Id : 21280728637 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

A plan which provides the prescribed ways or manner in which a task has to be performed”
[dentify the type of plan explained in the above statement

(1) Procedure
(2) Programme
(3) Mathod

(4) Rule

Options :

212807114545. 1
212807114546.2
212807114547. 3
212807114548. 4

Question Number : 132 Question Id : 21280728637 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

“a1E T = vl fauife Tum o 90 vem =t € Taad T s = Feres T e e 3
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(1) Wi

(2) ERTH®H

(3) Tafa

(4) T7m
Options :

212807114545. 1
212807114546. 2
212807114547. 3
212807114548. 4

Question Number : 133 Question Id : 21280728638 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ




Meerja Confectioneries Lid, provides s customers world class services along with their authentic
home made cookies and cakes, made after taking into consideration the tastes and preferences of
customers. It also pack its products in environment friendly disposables.

[dentify the marketing philosophy adopted by Neerja Contectioneries Lid,
(1) Troduct Concept

(2} Selling Concept

(3 Societal Marketing Concept

(4) TProducton Concept

Options :

212807114549. 1
212807114550. 2
212807114551. 3
212807114552 4

Question Number : 133 Question Id : 21280728638 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
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(1) T AFHEm

(2) T3 e

(3)  F= faE s

(4) FeIET AFEEm

Options :

212807114549. 1
212807114550. 2
212807114551. 3
212807114552. 4

Question Number : 134 Question Id : 21280728639 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

This step of statfing process requires the organisation to encourage woman and persons with
special abilities to assume responsible positions in the organisations.

(1) E!‘il‘i.]'l‘l.ﬂ[‘.i.l‘lﬁ FRATPOWET requirement
(2} TPlacement

(3) Selection

(4) Tromobion and Career Planning



Options :

212807114553. 1
212807114554. 2
212807114555. 3
212807114556. 4

Question Number : 134 Question Id : 21280728639 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
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-
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Options :

212807114553. 1
212807114554.2
212807114555. 3
212807114556. 4

Question Number : 135 Question Id : 21280728640 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Rakesh is a conductor of a truck. The driver of the truck is REohan. While transporting goods Rohan
tells Rakesh to drive the truck at night as the raffic and traffic police are less. This helps Rakesh to
learn drivimg so that one day Rakesh can also become a truck driver, Idenfity the method of traiming
received by Rakesh 7
(1) Internship Training
(2) Vestibule Traming
(3)  Apprenticeship Training
(4} Induction Training

Options :

212807114557. 1

212807114558. 2

212807114559. 3
212807114560. 4

Question Number : 135 Question Id : 21280728640 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
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(2) SEEE A
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Options :

212807114557. 1

212807114558.2

212807114559. 3
212807114560. 4

Question Number : 136 Question Id : 21280728641 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

ldentity the element which is not a part of Social environment 7
(1)  Life expectancy

(2) Comstitution of the Country

(3) Birth and death rate

(4) Population Shift

Options :

212807114561. 1
212807114562.2
212807114563. 3
212807114564. 4

Question Number : 136 Question Id : 21280728641 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

TH T T TR 4 S A AT 9 TR R
(1) & e

(2) =91 = HiEYH

(3) =9 &0 gy e

(4) STHET W

Options :

212807114561. 1
212807114562. 2
212807114563. 3
212807114564. 4



Question Number : 137 Question Id : 21280728642 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

"He is responsible tor imely and accurate completion of job, [dentify the specialist as per one of
Taylor's Technigue of Scientitic Management, stated above,

(1) Cun}; Boss
(2)  Time and Cost Clerk
(3)  Inspector

(4) Speed Boss

Options :

212807114565. 1
212807114566. 2
212807114567. 3
212807114568. 4

Question Number : 137 Question Id : 21280728642 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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(1) =5 Tas
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(3) Fodtess
(4) Wi S
Options :

212807114565. 1
212807114566. 2
212807114567. 3
212807114568. 4

Question Number : 138 Question Id : 21280728643 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

As a result of delegation, emplovees get more opportunities to utilize their talent and this may give
rise to latent abilities in them. Identify the importance of delegation highlighted in the above
statement.

(1) Ettective Management
(2) Facilitation of growth
(3  DMotvation of emplovess

(4) Employee development



Options :

212807114569. 1
212807114570.2
212807114571. 3
212807114572. 4

Question Number : 138 Question Id : 21280728643 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
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(1) W9ETie wEe

(2) WG T G
(3) sl = sfim

(4) =R FEE

Options :

212807114569. 1
212807114570.2
212807114571. 3
212807114572. 4

Question Number : 139 Question Id : 21280728644 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Eanan 15 working in StarPro Lid. He ensures that his deparbment has necessary worktorce and he
co-operates with other departments for smooth functioning of the organisation. At which level
Kanan is working 7

(1) Top

(2} Supervisory
(3) Middle

(4) Operational

Options :

212807114573. 1
212807114574.2
212807114575. 3
212807114576. 4

Question Number : 139 Question Id : 21280728644 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
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(1) ==
(2) OEEEm
(3) WEAH
(4) wHEA

Options :

212807114573. 1
212807114574.2
212807114575. 3
212807114576. 4

Question Number : 140 Question Id : 21280728645 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Identity the characteristic of entrepreneurship from the tollowing ?
(1) Risk taking

(2) Relative

(3) Interrelatedness

(4) Contingent

Options :

212807114577. 1
212807114578. 2
212807114579. 3
212807114580. 4

Question Number : 140 Question Id : 21280728645 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
- gy - [x! S -
Fr=fafas § O Seaviiea = fagem #1729 %517
(1) =niEs =

(2) =Ml
(3) SARHEEE

-~
(4) AT

Options :

212807114577. 1

212807114578.2

212807114579. 3

212807114580. 4

Sub-Section Number : 2

Sub-Section Id : 2128072086

Question Shuffling Allowed : No



Is Section Default? : null

Question Number : 141 Question Id : 21280728646 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension Compl

Read the following Case Study and answer, question

Aryvan is a CEO of E5 Infotech Lud., which is a company working in the technology sector tor
the last 55 years. The company is doing very well m this sector and now has a growth plan of
entering into cosmetics market.

Kesping in view the changing tastes and preferences of customers, it is planning to enter
organic products market.

The company targets to achieve 20% of market share in the first 2 years of its entry.

For financial issues, Arvan consulted his chief finance officer, Raj and found that it requires
50 crores of additional capital for setting up a separate cosmetics division.

The Company plans to arrange this money by issuing equity shares in the market but it lacks
sufficient cash to bear the floatation cost and hence planned to appreoach the financial market for
the same,

[dentily the type of organisabion structure required by RS Infotech,
(1)  Intormal Crganisation

(2) Tormal Organisation

(3) Functional Organisation Structure

(4) Divisional Organisation Structure

Options :

212807114581. 1
212807114582. 2
212807114583. 3
212807114584. 4

Question Number : 141 Question Id : 21280728646 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension Compl
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Options :
212807114581. 1
212807114582.2

212807114583. 3
212807114584. 4

Question Number : 142 Question Id : 21280728647 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension Compl




Read the following Case Study and answer, question

Aryan is a CEO of E5 Intotech Lud., which is a company working in the technology sector tor
the last 35 years. The company is doing very well in this sector and now has a growth plan of
entering into cosmetics market,

Keeping in view the changing tastes and preferences of customers, it is planning to enter
organic producks market.

The company targets to achieve 20% of market share in the first 2 vears of its entry.

For financial issues, Arvan consulted his chief finance officer, Raj and found that it requires
50 crores of additional capital for setting up a separate cosmetics division.

The Company plans to arrange this money by issuing equity shares in the market but it lacks
sufficient cash to bear the floatation cost and hence planned to appreach the financial market for
the same,

To which level of management, Aryvan and Raj belongs o7
(1)  Toplevel

(2) Middle level

(3) Lower level

(4) Operational level

Options :

212807114585. 1
212807114586. 2
212807114587. 3
212807114588. 4

Question Number : 142 Question Id : 21280728647 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension Compl
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Options :

212807114585. 1
212807114586. 2
212807114587. 3
212807114588. 4

Question Number : 143 Question Id : 21280728648 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension Compl




Read the following Case Study and answer, question

Aryan is a CEO of E5 Intotech Lud., which is a company working in the technology sector tor
the last 35 years. The company is doing very well in this sector and now has a growth plan of
entering into cosmetics market,

Keeping in view the changing tastes and preferences of customers, it is planning to enter
organic producks market.

The company targets to achieve 20% of market share in the first 2 vears of its entry.

For financial issues, Arvan consulted his chief finance officer, Raj and found that it requires
50 crores of additional capital for setting up a separate cosmetics division.

The Company plans to arrange this money by issuing equity shares in the market but it lacks
sufficient cash to bear the floatation cost and hence planned to appreach the financial market for
the same,

Identify the feature of business environment that is highlighted in the case.
(1) Complexity

(2) Dynamic

(3) Relatvity

(4) Interrelatedness

Options :

212807114589. 1
212807114590.2
212807114591. 3
212807114592. 4

Question Number : 143 Question Id : 21280728648 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension Compl
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Options :

212807114589. 1
212807114590. 2
212807114591. 3
212807114592. 4

Question Number : 144 Question Id : 21280728649 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension Compl




Read the following Case Study and answer, question

Aryan is a CEO of E5 Intotech Lud., which is a company working in the technology sector tor
the last 55 years. The company is doing very well in this sector and now has a growth plan of
entering into cosmetics market,

Keeping in view the changing fastes and preferences of costomers, it is planning to enter
organic products market,

The company targets to achieve 20% of market share in the first 2 years of its entry.

For financial issues, Aryan consulted his chief finance officer, Raj and found that it requires
50 crores of additional capital for setting up a separate cosmetics division.

The Company plans to arrange this money by issuing equity shares in the market but it lacks

sufficient cash to bear the fHoatation cost and hence planned to approach the financial market for
the same,

Identify the step of planning process mentioned in the case.
(1} Developing Premises
(2) Follow up action
(3} Identifving alternabives
(4) Sethng objectives
Options :
212807114593. 1
212807114594, 2

212807114595. 3
212807114596. 4

Question Number : 144 Question Id : 21280728649 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension Compl
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Options :

212807114593. 1
212807114594.2
212807114595. 3
212807114596. 4

Question Number : 145 Question Id : 21280728650 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension Compl




Read the following Case Study and answer, question

Aryan is a CEO of E5 Intotech Lud., which is a company working in the technology sector tor
the last 35 years. The company is doing very well in this sector and now has a growth plan of
entering into cosmetics market,

Keeping in view the changing tastes and preferences of customers, it is planning to enter
organic producks market.

The company targets to achieve 20% of market share in the first 2 vears of its entry.

For financial issues, Arvan consulted his chief finance officer, Raj and found that it requires
50 crores of additional capital for setting up a separate cosmetics division.

The Company plans to arrange this money by issuing equity shares in the market but it lacks
sufficient cash to bear the floatation cost and hence planned to appreach the financial market for
the same,

When the company wants to issue new shares, which financial market it is going to approach 7
(1) Capital Market

(2) Money Market

(3) Primary Market

(4) Secondary Market

Options :

212807114597. 1
212807114598.2
212807114599. 3
212807114600. 4

Question Number : 145 Question Id : 21280728650 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension Compl
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Options :

212807114597. 1
212807114598.2
212807114599. 3
212807114600. 4

Sub-Section Number : 3
Sub-Section Id : 2128072087
Question Shuffling Allowed : No

Is Section Default? : null

Question Number : 146 Question Id : 21280728651 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension Comp?2




Read the following Case Study and answer, question

Aryan is a CEO of E5 Intotech Lud., which is a company working in the technology sector tor
the last 35 years. The company is doing very well in this sector and now has a growth plan of
entering into cosmetics market,

Keeping in view the changing tastes and preferences of customers, it is planning to enter
organic producks market.

The company targets to achieve 20% of market share in the first 2 vears of its entry.

For financial issues, Arvan consulted his chief finance officer, Raj and found that it requires
50 crores of additional capital for setting up a separate cosmetics division.

The Company plans to arrange this money by issuing equity shares in the market but it lacks
sufficient cash to bear the floatation cost and hence planned to appreach the financial market for
the same,

Identify the Money Market Instrument the company is going o use,
(1)  Call Momey

(2) Commercial Paper

(3) Treasury Bills

(4) Commercial Bill

Options :

212807114601. 1
212807114602. 2
212807114603. 3
212807114604. 4

Question Number : 146 Question Id : 21280728651 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension Comp2
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Read the following Case Study and answer, question

Aryan is a CEO of E5 Intotech Lud., which is a company working in the technology sector tor
the last 55 vears. The company is doing very well in this sector and now has a growth plan of
entering into cosmetics market,

Kepping in view the changing tastes and preferences of customers, it is planning to enter
organic products market.

The company argets o achieve 20% of market share in the fGrst 2 years of 1ts entry.

For financial issues, Aryan consulted his chief finance officer, Faj and found that it requires
50 crores of additional capital for setting up a separate cosmetics division.

The Company plans to arrange this money by issuing equity shares in the market but it lacks
sufficient cash to bear the floatation cost and hence planned to approach the financial market for
the same,

When the company approaches Money Market to meet the requirement of floatation cost of equity
shares, the process is known as 4

(1) Dematerialisation
(2) Demutualisation
(3) Bridge Financing
(4) Issue of Shares
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Read the following Case Study and answer, question

Aryan is a CEO of E5 Intotech Lud., which is a company working in the technology sector tor
the last 55 vears. The company is doing very well in this sector and now has a growth plan of
entering into cosmetics market,

Kepping in view the changing tastes and preferences of customers, it is planning to enter
organic products market.

The company targets b achieve 20% of market share in the first 2 years of it entry.

For financial issues, Aryan consulted his chief finance officer, Faj and found that it requires
50 crores of additional capital for setting up a separate cosmetics division.

The Company plans to arrange this money by issuing equity shares in the market but it lacks
sufficient cash to bear the floatation cost and hence planned to approach the financial market for
the same,

State the financial decision involved when the company needs additional capital for growth in
different assets of the business.

(1) Investment decision
(2}  Working capital decision
(3) Capital structure

(4) Dividend decision
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Read the following Case Study and answer, question

Aryan is a CEO of E5 Intotech Lud., which is a company working in the technology sector tor
the last 535 vears. The company is doing very well in this sector and now has a growth plan of
entering into cosmetics market,

Kepping in view the changing tastes and preferences of customers, it is planning to enter
organic products market.

The company argets o achieve 20% of market share in the fGrst 2 years of 1ts entry.

For financial issues, Aryan consulted his chief finance officer, Faj and found that it requires
50 crores of additional capital for setting up a separate cosmetics division.

The Company plans to arrange this money by issuing equity shares in the market but it lacks
sufficient cash to bear the floatation cost and hence planned to approach the financial market for
the same,

Mame the financial decision which the company is going to make while arranging the source tor
required funds.

(1) Investment decision
(2} Financing decision
(3) Capital structure

(4) Dividend decision
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Read the following Case Study and answer, question

Aryan is a CEO of E5 Intotech Lud., which is a company working in the technology sector tor
the last 55 years. The company is doing very well in this sector and now has a growth plan of
entering into cosmetics market,

Keeping in view the changing fastes and preferences of costomers, it is planning to enter
organic products market,

The company targets to achieve 20% of market share in the first 2 years of its entry.

For financial issues, Aryan consulted his chief finance officer, Raj and found that it requires
50 crores of additional capital for setting up a separate cosmetics division.

The Company plans to arrange this money by issuing equity shares in the market but it lacks

sufficient cash to bear the fHoatation cost and hence planned to approach the financial market for
the same,

State the type of fixed capital requirement by RS Infotech.
(1} Low

(2) Very low

(3) Moderate

(4) High
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